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fire brøk, desimaler, rekkefølge for operasjoner

− 5, 7 + 4 × =
3
1

3
1 5, 7 + 10 × 3, 5 ÷ 5 − 4 × 4, 6 =

− × 4 + 3, 5 =
2
1

6
1 3, 3 − 3, 3 × 2 + 10 × 4, 3 ÷ 2 =

− 3, 4 − 5 × =
3
2

3
1

+ − 4 × 5, 1 =
5
1

2
3

+ + 5 × =
2
1

3
2

5
2

+ 10 × 4, 7 ÷ 2 − 3 × 3, 2 =
2
1

+ 10 × 2, 2 ÷ 5 + 2 × 4, 7 =
6
1 4 + 4, 6 + 3 × 3, 7 =
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− 5, 7 + 4 × = (− ) = (−4 )
3
1

3
1

30
121

30
1

5, 7 + 10 × 3, 5 ÷ 5 − 4 × 4, 6 = (− ) = (−5 )
10
57

10
7

− × 4 + 3, 5 = = 3
2
1

6
1

3
10

3
1

3, 3 − 3, 3 × 2 + 10 × 4, 3 ÷ 2 = = 18
5
91

5
1

− 3, 4 − 5 × = (− ) = (−4 )
3
2

3
1

5
22

5
2

+ − 4 × 5, 1 = (− ) = (−18 )
5
1

2
3

10
187

10
7

+ + 5 × = = 3
2
1

3
2

5
2

6
19

6
1

+ 10 × 4, 7 ÷ 2 − 3 × 3, 2 = = 14
2
1

5
72

5
2

+ 10 × 2, 2 ÷ 5 + 2 × 4, 7 = = 13
6
1

30
419

30
29

4 + 4, 6 + 3 × 3, 7 = = 19
10
197

10
7
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